

Similar to adding fractions because when we have the same denominators simply subtract the numerators.

$$\frac{1}{2} - \frac{1}{2} =$$

$$\frac{2}{3} - \frac{1}{3} =$$

$$\frac{3}{4} - \frac{2}{4} =$$

$$\frac{4}{5} - \frac{2}{5} =$$

$$\frac{5}{4} - \frac{1}{4} =$$

$$\frac{6}{6} - \frac{1}{6} =$$

$$\frac{8}{7} - \frac{2}{7} =$$

$$\frac{9}{5} - \frac{2}{5} =$$

$$\frac{9}{8} - \frac{2}{8} =$$

$$\frac{9}{9} - \frac{1}{9} =$$

$$\frac{4}{4} - \frac{1}{4} =$$

$$\frac{7}{7} - \frac{1}{7} =$$